H & 0l & AHS B Ml A

SN HEs
M Z=0l #EHO| £
el FoEd XA (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
H=H 554,717 501,837 52,880
=0l HFHPEO L2 475,702 434,907 40,795
=y X 441,812 410,786 31,026
BN2E 95,283 68,149 27,134
201 fer= 3| 68,851 68,149 702
01 At 2|l 600 600 0
OFA Y945 S99
200,000 *32] 600
2 35244l 68,251 67,549 702
odIIea 34,200
—&A S 850,000 * 12 10,200
—JIZ2S 1,950,0002 122 23,400
—2ZAYH XX 50,0002 122 600
Osties 100,000& «12& 1,200
OMBI4E 23 (BAF S)
100,000& * 12 1,200
ORER3 100,000 * 12 1,200
ORudYgsz 22,000~ 12& 264
ORQUBHIAIAY 82
135,000& « 12& 1,620
Oxte MAsd= 3,100
—=28= 850,000 *3CH 2,550
—HAIB2Z 400,000 400
—XIPEIIZA 42
50,0002 *3CH 150
OXr&EHl & ==2lbl 5,000
—&AX BHOI WAl
400,000 ~6 K 2,400
—@ X2 EFOIOT Al
150, 0002 *4H 600
—ig el E A2F Wi
2,000,000& 2,000
OXtg ==l 12,090
—&axt 1,550 %400 £ =123 7,440
—HUREIY L HIISXSAE
1,565024%250 £ 122 4,650
OARE 2HI(EM 8)
500,000 62 3,000
Ost&d 2 (RX)
50,0003 *137H 2 650
Odted| 2 S 2eltl
100,000& * 124 1,200
Oy EAZH 1,363& *102| B %150 2,045
OLYMAN =2
500,000& 12 500

- 827 -




SN HEs
M Z=0l #EHO| £
el oy X3 (SH9 H2)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
OB ASHMAD| 2eltl
35,000+ 123 420
OFI|HETAL =2 100,000& 100
OYIMYUALHIA S (HlA)
38,500& *12& 462
401 Al&EIZ 2 OHY] 22,000 22,000
01 AlZH 22,000 22,000
OBH=NEZ FaBETA
22,000,000 3 14| 22,000
405 Xt S| 4,432 4,432
01 XML =EFSHI 4,432 4,432
—3|olal HLED] 4,432,000+ 1CH 4,432
28 FRIEAALA 70,000 70,000 0
401 A& HILS0HY| 70,000 70,000
01 AlEHI 70,000 70,000
OATE FHAAY 50,000
—240I2 s2Z& ZAH3M)
10,000,000 & 14 10,000
—2EDS =2 EXISAHEM)
20,000,000 14| 20,000
—SN0IE SEEX BA
20,000,000 14! 20,000
O2= A& HHIALE 20,000,000& 20,000
oL 15,760 16,487 NT27
101 2124 d| 10,950 10,368 582
M IIRINZ2Z2XsEs 10,950 10,368 582
OodtAH S 10,950
—J|lE2= 80,2403 *1E*100 8,024
—=54 80,2403 x 1820 1,605
— X< 80,2403 * 1 4 321
—S&z 1,000,000 *1H 1,000
206 =4l 4,810 6,119 21,309
01 =l 4,810 6,119 A1,309
OdtH YA S=FHI 4,810
— 3R 1,710& %10 £ »100 1,710
3% 1,550%*20 £ »100 3,100
HE FRAHYR F=A 4,200 4,200 0
202 0idl 3,200 3,200
01 =LHO4b] 3,200 3,200
OHE F=Rsor =2 3,200,000& 3,200
203 HRF&lY| 1,000 1,000
03 Al FAIH R FAIH| 1,000 1,000
O=F2 ool ¥ WIAY =&
1,000,000& 1,000
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SN HEs
M Z=0l #EHO| £
el FoEd XA (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
EENEE] 106,440 106,440
301 LB 106,440 106,440
07 S 0IE - BRESIAD 105,360 105,360
O -2l - o +g 9 By 105,360
—OI% =g
400,000 %172 128 81,600
R ERGE 400,000+ 17 % #2351 13,600
—0IF BB Lo
20,0003 x17H+23|x 122 8,160
—otE 2= 50,0002 x40 2,000
11 #AIAHIXIE S 1,080 1,080 0
OZFH0E ZLIEHRE +=#3
20,000 * 1712 340
O0lE A= 10,0003 * 172 =22 340
OZ0IYHASE U ALAT DT FHBL
10,0003 40 *13] 400
Helel g =4 4,982 3,890 1,092
201 fet= 3| 3,890 3,890 0
01 AtR2te|HI 1,890 1,890 0
ogglol & 2322 d4+g
70,0002 x0H +33] 1,890
03 A2 I 2,000 2,000 0
oslo] & Ald 500,000 x4H 2,000
405 AHatE =4 1,092 1,092
01 ML ESFSHI 1,092 1,002
OXtHIete E 2 364,000 *34] 1,092
FoZH BLXxd 16,682 16,506 176
101 212A4H| 13,682 13,406 276
04 JIZtN2 2N S 2+ 13,682 13,406 276
OFLEZH 2Lt
80,2403 *x7& 15 8,426
Ootzed gl =y 5,256
—JIZ2= 80,2402 x0H <7 5,05
—28= 200,000 200
206 M=l 3,000 3,100 A100
01 M=8l 3,000 3,100 A100
o= & 22X M2
3,000,000 3,000
FUXNXIHE 2E 51,800 48,200 3,600
201 er23| 17,800 14,200 3,600
01 At2teltl 14,400 10,800 3,600
O 14,400
—?I23 FA=H(RIY)
30,0002 x25H 122 9,000
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SN HEs
M Z=0l #EHO| £
el FoEd XA (Gt H2)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
—9las FAL(DE)
30,0003 x5 12& 1,800
— AKX JIE 800& *1,500 2 *23] 2,400
—o20Y 292E 19
100,000& %123 1,200
02 2224l 1,400 1,400 0
OF0URX LMK RERZ
5002 *1,400S+23] 1,400
03 AL 2,000 2,000
ORNZS = HHZE
2,000,000& 2,000
301 LB F 34,000 34,000
11 HAAHIXIE S 5,200 5,200
OFFL 5,200
~FORAY G S BHLY
50,0003 *30F *13] 1,500
— XYW SAIS 1,500,000& *13] 1,500
— AR OB A 1,000,002 *13] 1,000
—FOITRIAY &
1,200,000& 1,200
14 J|EI2 43 28,800 28,800
OZ2I8 YA4g
28,800,000 14| 28,800
=2 2 ItAlE 22l 8,874 8,690
101 2124t 8,874 8,690
M IIZMZ22 NS Es 8,874 8,690
283 T8 Y 2 8,874
aralsl 80,2403 x2ZH x50 8,024
—-2&= 850,000& 850
HUSHs2 22 14,752 16,052
201 LB-2AY| 13,252 13,052
01 At=R2teld| 1,100 1,900
O 1,100
—&8=J| 22yl 50,0003 x6& 300
~H48% 9 4257
200,000& *43] 800
02 324l 12,152 11,152
OE-LT 12,152
—HIIe3 800,000& =123 9,600
—sARZ 66,000& * 12& 792
—&ot=ER2 30,000& *12& 360
— &I 2 AL
100,000 * 1 A *13] 100
— A UOLM 2 AL
500,000 *1IH 2+ 13| 500
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SN HEs
M Z=0l #EHO| £
el FoEd XA (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
— 472 =2l 200,000& 42 800
206 M=l 1,500 3,000 21,500
01 MZH| 1,500 3,000 1,500
OFd=Hs2 28 Mg ¢
1,500,0002 %14 1,500
ESES 52X 2 12,933 15,337 A2,404
101 eI24d| 7,933 9,337 1,404
M ORNZZ2NSE S 7,933 9,337 1,404
OEssE 22|
80,2403 x4 H+52 1,605
OE=sH= 3ERA 6,328
—Jl2= 80,2403 x2& 30! 4,815
-5+ 80,2402 x2H 6 963
—E82 550,000 550
201 er23| 3,000 3,000
01 At2tltl 3,000 3,000
OE=SSH=E |Al&el ZHAER
600,000 x5 3,000
206 MH=H| 2,000 3,000 21,000
01 M=4l 2,000 3,000 21,000
OE=SH= sAl&el Ha 78
1,000,000& 1,000
O&Ess2 22 I 1,000
—d& & Z8A S MY
1,000,000 1,000
NEAt 2 ZEAM 23 6,066 5,9% 71
201 er=2 3| 5,566 5,4% 7l
01 AtR2te|HI 3,700 3,700 0
Ozl itz &d 200,000 200
OoAFA =g 70,0002 10 +53] 3,500
2 35244l 1,866 1,795 Il
OXEE =X 72 1,866
—=54l 1,7102+30c| B« 122 616
—28= 700,000 700
—cl € AZFuX 500,000 500
—XEHIEMN =2
50,0002 *1CH*13] 50
202 04l 500 500
01 =LHOHI 500 500
OXNGA 2 ZE N 2=
500,000 500
Mol =S A 10,000 10,000 0
201 et 3| 10,000 10,000
01 At22t2l] 10,000 10,000
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SN HEs
Ma: Z=ol #EHO| £
Hel 2 &2 ¥ SFE| (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
101 @124H| 30,690 21,121 9,569
M ORINZZE2NSES 30,690 21,121 9,569
OFe =24 =HID|
80,2403 x30H 6! 14,444
OzZk & sHE 2tiDI
80,2403 x23H 5 9,228
O EEIERS
80,2402 » 15 +52] 6,018
O1NE MIHEER 1,000,000& 1,000
QRAAMEIA e 1,400 1,400 0
LAY 28 1,400 1,400 0
201 er2 3| 1,400 1,400 0
01 AtR2t2|HI 1,400 1,400 0
ourd 23 1,400
—QIRAYSE T2 E4 wHl
200,000 *22] 400
—2025 F4 &2 44l
50,0002 123 600
—RoIHEZI| EH W
400,000& 12 400
HY2HAHI(H=D) 79,015 66,930 12,085
el 2| 9,360 8,160 1,200
el 2dd| 9,360 8,160 1,200
201 er=23| 1,800 1,800 0
01 AtR2te|Hl 1,800 1,800 0
OetZ0lstd LIS 600,000 3% 1,800
202 04| 360 360
01 2K 360 360
OZRA22X &F0|
20,000 63 3 360
04 HSRESS 7,200 6,000 1,200
4 R (RIHA)22N BEERES S 7,200 6,000 1,200
OSRH2Z2X BEZ(4Y)
600,000 * 12 7,200
Jl=23H 69,655 58,770 10,885
Jl23H] 69,655 58,770 10,885
201 er=23y| 31,443 20,793 10,650
01 AtR2t2lHl 31,443 20,793 10,650
OsH 31,443
—AIREE 7Y 100,0003 122 *90% 1,080
—=ZABX Y
25,3002 x 102 A 122 «90% 2,733
—SAD| SRE 800,000 * 12 9,600
—&=0| € d240| 22l
30,0002~ 12& 360
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SN HEs
S HY2AHUI(HEH)
&l D122 (CH9: &S1)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
&) HERZR
50,000 #2CH * 122 *90% 1,080
—23&EH 257
200,000 *53|*90% 900
— B0 R (A U HEEEE)
50,0002 %123 600
—g Al 9,000& x18H * 123 *90% 1,750
— A 60,0002 x 10 600
—MEZR &I 20,0002 365 7,300
—272 HIE &t
200,000& *53| 1,000
—MEI=Z 500,000 & *43| 2,000
—EA7 500,000& 500
—gRE21IN S R2U=S MHEHI
500,000& 500
—3J88I| Xtz
30,000& x4CH+12& 1,440
202 0idl 27,552 27,317 235
01 =LHO4 b 2,352 2,117 235
FA2ZE SLHAYI
20,0002 *14B %123 x70% 2,352
02 A0l 25,200 25,200 0
O NI 150,000& 144+ 12& 25,200
203 AR F=&lH| 10,660 10,660
01 J|22g AR FA| 6,700 6,700
OJIA2HAR =Y (HE)
6,700,000& 6,700
02 HRIAHH R F=AH| 720 720 0
OF AL RFEH| 40,0003 +18H 720
M EAM2EHRFA| 3,240 3,240 0
ORAN2ILRF&I
300,000& * 12 x90% 3,240
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